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Find the equation of the tangent to the curve y = e** *5%~2 atthe point (-2, 1),
giving your answer in the form ax + by + ¢ = 0, where a,b and c are integers.
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Differentiate with respect to x, simplifying your answers as far as possible:

(a) (4cosx — 3sinx)e’ ~3

(b) (x* — 4x? + ) Inx

131

cL) Produck mle %=u%+v‘3ﬁ—
Lok w= ks x-38inx e
d:‘lcz_qsinx%wsi adi:sgr‘s
5
dlwv) _ (4 cosoe-3 8N Seg"_g + P.zx ("*8"'\”‘ -3(05&)
M - ~—Z

:Czi;g(llmxﬂsir\x —lsinx _’5@&1)

= e&“g( Qeosx - lBsinx)

Fsavemyexams




image8.png
Differentiate with respect to x, simplifying your answers as far as possible:

(a) (4cosx — 3sinx)e’ ~3
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Differentiate —— with respect to x.
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(a) Show thatif y = cosec2x, then

dy
—— = —2cosec 2x cot 2x
dx

151

(b) Hence find the gradient of the tangent to the curve = cosec 2x at the point with
coordinates (3, 22).
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(a) Show thatif y = cosec2x, then

dy
—— = —2cosec 2x cot 2x
dx
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(b) Hence find the gradient of the tangent to the curve = cosec 2x at the point with
coordinates (3, 22).
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The diagram below shows part of the graph of y = f(x), where f(x) is the function
defined by

fx) = (x* = 1)In(x +3), x>3 u) Product nle
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Points 4, B and C are the three places where the graph intercepts the x-axis.

(@) Find £'(x)

[

(b) Show that the coordinates of point A are (~2,0).

2

(<) Find the equation of the tangent to the curve at point A.

31
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The diagram below shows part of the graph of y = f(x), where f(x) is the function
defined by

) =(x* = 1)In(x +3), x>3

Points 4, B and C are the three places where the graph intercepts the x-axis.
(@) Find f'(x).

4
(b) Show that the coordinates of point A are (~2,0).

2
(<) Find the equation of the tangent to the curve at point A.
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The diagram below shows part of the graph of y = f(x), where f(x) is the function
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Given that f(x) = sinx

(a) Show that

0 = iy <s|n (=

(b) Hence prove that f'(x) = cosx.
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Given that f(x) = sinx

(a) Show that

0 = iy <sm x(

(b) Hence prove that f'(x) = cosx.
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A curve has the equation y = e~ + In.x, x > 0.

Find the gradient of the normalto the cu

w =-3x
t the point (1, e~2), giving your answer e u éﬁ _
correct to 3 decimal places.
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4
Find ﬁ for each of the following:

(a) y = cos(x? — 3x + 7) + sin(e”)

(0)y = In2+)
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Find é for each of the following:

(a) y = cos(x? — 3x + 7) + sin(e”)

(0)y = In2+)
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